PETITIONER'S EXHIBIT #29 Billing records

Rosemary M. Jones Official Court Reporter #317 420 West Hale Ave. Osceola, AR 72370-2532 870-563-2007

STIDHAM & CROW ATTORNEYS AT LAW 203 N. SECOND STREET P. O. BOX 856 PARAGOULD, AR 72451-0856 (501) 236-7600

STATEMENT OF ACCOUNT

Jessie L. Misskelley, Jr.

March 4, 1994

File #P93-284

		Ers/Rate	Amount
	Professional services		
06/07/93	Phone conference w/Crittenden Co. Sheriffs office, conference w/Craighead Co. Sheriff, phone conference w/Sheriff Busby.	1.25 100.00/hr	125.00
	Phone conference w/Tom Hall, w/client, w/client's father, Research: Change of Venue.	1.25 100.00/hr	125.00
	Phone call from Dan. Meet with Dan.	0.50 100.00/hr	50.00
06/08/93	Research: change of venue, phone conference w/Commercial Appeal re: Sunday story re: Client's statement.	0.75 100.00/hr	75.00
	Prepare letter for Change of Venue.	0.45 100.00/hr	45.00
	Conference with client.	3.50 100.00/hr	350.00



00**35**49

Page 2

~		Hrs/Rate	Amount
06/08/93	Review newspapers.	0.75 100.00/hr	75.00
	Review newspapers. Meet with Client. Calls.	4.75 100.00/hr	475.00
	Phone call to client's family.	0.25 100.00/hr	25.00
06/09/93	Research change of Venue.	1.15 100.00/hr	115.00
	Research on Change of Venue. Calls.	1.50 100.00/hr	150.00
06/10/93	Phone call to West Memphis PD & Pros. Atty.	0.25 100.00/hr	25.00
	Conference w/atty. Price, Review Statement.	2.25 100.00/hr	225.00
	Phone conference w/Det. Gitchell.	0.25 100.00/hr	25.00
100	Phone conference w/Jessie Sr.	0.25 100.00/hr	25.00
	Phone conference w/atty. Philhours.	0.20 100.00/hr	20.00
06/11/93	Review Statement.	0.75 100.00/hr	75.00
4	Research - Change of Venue.	0.50 100.00/hr	50.00
ж =	Conference with Atty Crow Re: Media.	0.25 100.00/hr	25.00

Jessie L	. Misskelley, Jr.	Page	3
		Hrs/Rate	Amount
06/11/93	Conference with client.	2.50 100.00/hr	250.00
	Research. Tony Brooks.	1.00 100.00/hr	100.00
06/12/93	Conference with Atty Crow Re: Statement.	0.35 100.00/hr	35.00
	Review statement.	0.75 100.00/hr	75.00
06/14/93	Phone conference with Atty Price.	0.25 100.00/hr	25.00
	Draft Motion for Discovery.	0.35 100.00/hr	35.00
v	Meeting with Juvenile Officer.	1.00 100.00/hr	100.00
06/15/93	Meeting with Prosecutors and Atty's Price, Davidson, Ford and Wadley.	8.75 100.00/hr	875.00
	Review Autopsies. Phone conference with client's father.	1.45 100.00/hr	145.00
h.	Phone conference with Atty Price Re: Echol's Blood and Hair Sample.	0.25 100.00/hr	25.00
\$	Travel time - Trip to Marion. Review statement, Autopsy.	11.00 1 100.00/hr	,100.00
06/16/93	Phone conference with client.	0.25 100.00/hr	25.00
,	Research - Change of Venue.	0.50 100.00/hr	50.00

Jessie L	. Misskelley, Jr.	Page	4
		Hrs/Rate	Amount
06/16/93	Research on change of Venue.	0.50 100.00/hr	50.00
06/17/93	Conference with client.	2.50 100.00/hr	250.00
06/18/93	Review State's Motion for Discovery. Letter to client's father.	0.50 100.00/hr	50.00
06/20/93	Letter to client's father Re: School Records.	0.25 100.00/hr	25.00
06/21/93	Conference with Atty Davis. Conference with Atty Crow. Review client's mail and prepare letter to Judges.	1.25 100.00/hr	125.00
	Phone call to Prosecutor	0.50 100.00/hr	50.00
06/22/93	Phone conference with Val Price, Phone conference w/client.	1.75 50.00/hr	87.50
	Phone conference with clients father.	0.25 50.00/hr	12.50
06/23/93	Conference with Dan, Memo.	0.75 100.00/hr	75.00
R	Conference with client's father, with client. Research - Blood Sample Motion. Conference with Greg Crow.	3.30 100.00/hr	330.00
06/24/93	Research on P's motion for discovery.	0.75 100.00/hr	75.00

06/25/93 Review Autopses, research discover statues.

1.25 100.00/hr 125.00

Page 5

	→	Hrs/Rate	Amount
06/28/93	Phone conference with client's parents.	0.35 100.00/hr	35.00
06/29/93	Conference with client; Research discovery; Review inforamtion from client's parents.	0.75 100.00/hr	75.00
06/30/93	Phone conference with Atty Fogleman.	0.25 100.00/hr	25.00
07/01/93	Review Pleadings.	0.25 100.00/hr	25.00
07/02/93	Meeting with Atty Fogleman. View Crime Scene from Highway. Review Discovery from Prosecutor.	6.25 100.00/hr	625.00
07/03/93	Review Discovery Material.	1.45 100.00/hr	145.00
07/05/93	Review Discovery Materials.	1.25 100.00/hr	125.00
07/06/93	Review school records.	0.75 100.00/hr	75.00
	Review letters from client.	0.25 100.00/hr	25.00
07/07/93	Phone conference with client's parents.	0.25 100.00/hr	25.00
07/08/93	Research - Motion to Suppress.	0.45 100.00/hr	45.00
	Phone conference with Atty Fogleman. Phone conference with client's parents.	0.45 100.00/hr	45.00

Jessie	L.	Misskelley,	Jr.

Page 6

		Hrs/Rate	Amount
07/09/93	Phone call from client's father.	0.50 100.00/hr	50.00
	Review client's mail.	0.45 100.00/hr	45.00
	Phone conference with Scott Davidson.	0.25 100.00/hr	25.00
	Conference with Karen Nobles.	0.25 100.00/hr	25.00
	Conference with Atty Crow.	0.25 100.00/hr	25.00
07/12/93	Review States Response to Motion to Suppress.	0.25 100.00/hr	25.00
	Phone conference with client's parents.	0.20 100.00/hr	20.00
	Conference with client and client's parents.	2.25 100.00/hr	225.00
	Phone conference with Prosecuting Attorney.	0.25 100.00/hr	25.00
07/16/93	Review Discovery.	0.50 100.00/hr	50.00
07/18/93	Review Discovery Materials.	2.25 100.00/hr	225.00
07/19/93	Research.	0.25 100.00/hr	25.00
	Review Mental Health Records.	0.75 100.00/hr	75.00

Jessie L. Misskelley, Jr.	Page	∍ 7
	<u>Hrs/Rate</u>	Amount
07/22/93 Draft Pre-trial Motions. Letters to counsel.	2.25 100.00/hr	225.00
07/23/93 Phone conference with J. Fogleman; Letters to client.	0.75 100.00/hr	75.00
07/25/93 Research: Accomplish liability.	1.25 100.00/hr	125.00
07/27/93 Conference with Dan Stidham.	0.50 100.00/hr	50.00
Conference with Atty Crow Re: research.	0.25 100.00/hr	25.00
07/31/93 Review file, prepare for hearings, research.	5.00 100.00/hr	500.00
08/01/93 Research	1.75 100.00/hr	175.00
08/02/93 Phone conference with attorney Davidson, conference with attorney Crow, Phone conference with clients parents, Research.	2.50 100.00/hr	250.00
Review discovery documents.	1.75 100.00/hr	175.00
Conference with Dan. Prepare for hearings.	2.00 100.00/hr	200.00
08/03/93 Research discover/Rule 18.1.	1.35 100.00/hr	135.00
Review discovery. Review motions.	3.25 100.00/hr	325.00

Page 8

	· ·	Hrs/Rate	Amount
08/04/93	Court Appearance, Marion, conference with client, conference with clients parents, conference with attorney Fogelman.	8.25 100.00/hr	825.00
P	Review discovery.	0.50 100.00/hr	50.00
	Trip to Marion; Attend Hearing; Talk with Jessie Sr.; Meet with Prosecutor and client.	8.00 100.00/hr	800.00
08/05/93	Research change of venue.	0.35 100.00/hr	35.00
	Research change of venue.	1.75 100.00/hr	175.00
08/06/93	Conference with client regarding plea negotiations.	1.75 100.00/hr	175.00
08/10/93	Phone conference with Attorney Davis regarding plea. Conference with Attorney Crow regarding plea.	0.45 100.00/hr	45.00
	Phone call from Prosecutor; Jonesboro Sun and Conference with Dan.	1.50 100.00/hr	150.00
08/12/93	Review discovery material.	0.50 100.00/hr	50.00
08/16/93	Review letter to Atty Fogleman.	0.20 100.00/hr	20.00
	Phone call from Val Price.	0.25 100.00/hr	25.00

Jessie	Tr.	Misskelley,	Jr.

Page 9

			Hrs/Rate	Amount
08/17/93	Meeting with Inspector Gitchell, Det Ridge in West Memphis re: documentary & physical evidence. Conference with Atty Crow, conference with Atty's. Price & Davidson, travel to Memphis to Commercial Appeal, Channel 5, Channel 13 re: Change of Venue.		10.50 100.00/hr	1,050.00
	Meeting with Police; Trip to and from West Memphis; Meet with Commercial Appeal, Channel 5 and 13 Re: Area coverage for Motion for Change of Venue;		10.50 100.00/hr	1,050.00
08/19/93	Conference with client.		1.25 100.00/hr	125.00
08/22/93	Research: Confessions.		0.45 100.00/hr	45.00
08/23/93	Phone conference with Jessie Sr.		0.20 100.00/hr	20.00
	Review letters from client.	0.0	0.25 100.00/hr	25.00
	Phone conference with Susie Brewer.		0.20 100.00/hr	20.00
08/24/93	Research Compelled testing of defendant.		0.45 100.00/hr	45.00
	Prepare Memo to Atty Crow, review States Response to Amended Petition for Change of Venue.		0.25 100.00/hr	25.00
08/27/93	Travel to and from Jonesboro.		1.00 100.00/hr	100.00

		2010 A 000	
Jessie	L.	Misskelley,	Jr.

Page 10

		Hrs/Rate	Amount
08/27/93	Meeting with Prosecutor.	1.00 100.00/hr	100.00
08/28/93	Conference with Attys Davis & Fogleman.	0.75 100.00/hr	75.00
08/30/93	Conference with Crow re: Plea Bargain.	0.25 100.00/hr	25.00
	Research Re: Confessions.	0.25 100.00/hr	25.00
	Phone call from Fogleman and Memo to Dan.	0.50 100.00/hr	50.00
08/31/93	Review Discovery Materials from Prosecutor.	0.75 100.00/hr	75.00
09/01/93	Phone conference with Mrs. Misskelley.	0.20 100.00/hr	20.00
·	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Phone conference with client.	0.20 100.00/hr	20.00
	Research Re: Testifying against Co-Defendants.	1.25 100.00/hr	125.00
09/02/93	Meeting with client's family in Trumann.	2.45 100.00/hr	245.00
	Review letter from Atty Fogleman.	0.20 100.00/hr	20.00
09/05/93	Review letter from Atty Ford.	0.20 100.00/hr	20.00

dessie n. Misskelley, ul	Jessie	L.	Misskelley,	Jr.
--------------------------	--------	----	-------------	-----

Page 11

		Hrs/Rate	Amount
09/08/93	Phone conference with Atty Davis.	0.25 100.00/hr	25.00
	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Phone conference with Davidson.	0.25 100.00/hr	25.00
09/12/93	Review Discovery.	1.75 100.00/hr	175.00
09/13/93	Research Re: Venue.	0.75 100.00/hr	75.00
09/14/93	Review letter for Jessie.	0.25 100.00/hr	25.00
	Review letter and Motions from Atty Fogleman.	0.25 100.00/hr	25.00
	Letter to Judge Templeton.	0.25 100.00/hr	25.00
09/15/93	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Research Re: Brief Venue.	2.75 100.00/hr	275.00
09/16/93	Prepare Affidavits for Change of Venue. Interview Affiants.	1.75 100.00/hr	175.00
	Prepare rough draft Re: Brief Venue.	6.50 100.00/hr	650.00
09/17/93	Prepare, research Brieft in Support of Change of Venue.	3,25 100.00/hr	325.00

Jessie	Τ.	Misskelley,	Tr.
Desere	44.0	HIPSPICITEA!	U.L.

Page	12
	40.00

	i i	Hrs/Rate	Amount
09/17/93	Travel to Piggott, Blytheville and Marion for Affidavits. Conference with Jessie Sr.	5.50 100.00/hr	550.00
	Draft Brief in Support; file with Clerk.	2.25 100.00/hr	225.00
	Review Brief.	0.50 100.00/hr	50.00
	Review Discovery.	1.50 100.00/hr	150.00
09/19/93	Review Discovery material.	3.25 100.00/hr	325.00
09/20/93	Research Re: Experts and Confessions.	4.25 100.00/hr	425.00
	Draft Motion for Extension of Time.	1.00 100.00/hr	100.00
	Review Discovery.	1.50 100.00/hr	150.00
	Research Motion.	1.75 100.00/hr	175.00
	Research Supression.	1.75 100.00/hr	175.00
09/21/93	Letter to Val Price and Scott Davidson.	0.25 100.00/hr	25.00
	Phone conference with Potential witness and review fax.	0.75 100.00/hr	75.00
	Review Discovery.	2.25 100.00/hr	225.00

		Hrs/Rate	Amount
09/22/93	Phone conference with Atty Fogleman. Phone conference with Judge Burnett.	0.45 100.00/hr	45.00
	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Cconference with client's father in Trumann.	3.10 100.00/hr	310.00
	Research "Use immunity".	0.45 100.00/hr	45.00
	Phone conference with Death Penalty Resource Center.	0.25 100.00/hr	25.00
	Conference with client.	2.50 100.00/hr	250.00
	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
4	Travel time - Trip to and from Trumann.	1.50 100.00/hr	150.00
	Meeting with client's father.	2.00 100.00/hr	200.00
	Conference with Dan.	1.50 100.00/hr	150.00
	Draft Statement.	0.50 100.00/hr	50.00
09/23/93	Phone conference with Jessie Sr. Phone conference with jailer.	0.45 100.00/hr	45.00
	Travel time - Trip to and from Piggott.	1.50 100.00/hr	150.00

Jessie L. M	isskelley, J	r.
-------------	--------------	----

Page 14

		Hrs/Rate	Amount
09/23/93	Meeting with client.	1.00 100.00/hr	100.00
09/24/93	Phone conference with jailer and with Jessie Sr.	0.25 100.00/hr	25.00
	Phone conference with State Hospital Re: Evaluation.	0.25 100.00/hr	25.00
	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Phone conference with client.	0.35 100.00/hr	35.00
	Phone conference with Atty Wadley.	0.30 100.00/hr	30.00
•	Phone conference with Atty Crow Re: Hearing of 27th.	1.25 100.00/hr	125.00
09/25/93	Catalog file, Review Discovery, Review Pleadings, Draft Motions, Research. Conference with Atty Crow Re: insanity. Prepare for Hearing.	11.50 1 100.00/hr	,150.00
	Prepare for Hearing.	3.25 100.00/hr	325.00
	Research Juvenile Code.	2.00 100.00/hr	200.00
×	Sort Discovery.	1.75 100.00/hr	175.00
	Research Motion of Co-Defendant.	1.75 100.00/hr	175.00

Jessie L. M:	sskelley, Jr.
--------------	---------------

Page 15

		Hrs/Rate	Amount
09/26/93	Travel time - Trip to Marion.	1.75 100.00/hr	175.00
	Interview Witnesses.	3.25 100.00/hr	325.00
<u> </u>	Meet with Client's family.	1.00 100.00/hr	100.00
	Prepare for Hearing.	2.00 100.00/hr	200.00
	Interview Witnesses, Conference with Jessie Sr., Conference with Assistant News Director at Channel 5 Re: Unethical Conduct of Reporter.	4.25 100.00/hr	425.00
€:	Prepare for Hearing; Interview Witnesses.	3.75 100.00/hr	375.00
09/27/93	Court Appearance and travel time.	9.50 100.00/hr	950.00
	Hearing.	7.00 100.00/hr	700.00
	Meet with Potential Witnesses.	0.75 100.00/hr	75.00
	Travel time - Trip back to Paragould.	1.75 100.00/hr	175,00
09/28/93	Conference with Crow Re: Strategy.	0.75 100.00/hr	75.00
	Conference with Dan Re: Discuss Defenses.	0.50 100.00/hr	50.00

Jessie L	. Misskelley, Jr.	Page	16
		<u>Hrs/Rate</u>	Amount
09/28/93	Review possible Evidence.	0.50 100.00/hr	50.00
09/29/93	Conference with client.	2.00 100.00/hr	200.00
	Conference with Crow re: Experts.	0.50 100.00/hr	50.00
09/30/93	Phone conference with witness.	0.25 100.00/hr	25.00
	Conference with DTS.	0.75 100.00/hr	75.00
10/01/93	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
10/02/93	Review Discovery Info and Research Re: Suppress Statement.	6.50 100.00/hr	650.00
10/03/93	Review Discovery Info.	4.75 100.00/hr	475.00
10/04/93	Conference with Crow Re: Suppression.	0.35 100.00/hr	35,00
	Conference with Atty Davidson Re: Ridge letter.	0.25 100.00/hr	25.00
	Research Re: Expert witness.	1.25 100.00/hr	125,00
	Conference with Dan. Phone call from client.	0.75 100.00/hr	75.00
10/05/93	Research Re: Polygraph & suppress. Phone conference with Atty Wadley.	2.00 100.00/hr	200.00

		Hrs/Rate	Amount
10/05/93	Research on supressing statement of Juvenile.	3.00 100.00/hr	300.00
10/06/93	Review Discovery; Research Suppress; Phone conference with Atty Wadley.	2.75 100.00/hr	275.00
	Prepare Motion to Transfer.	0.35 100.00/hr	35.00
	Review discovery.	1.00 100.00/hr	100.00
10/07/93	Draft Motions for 10/7/93 Deadline.	5.45 100.00/hr	545.00
10/08/93	Phone conference with potential witness.	0.25 100.00/hr	25.00
	Draft Order for Hearing on 27th.	0.45 100.00/hr	45.00
10/10/93	Phone conference with potential expert.	0.50 100.00/hr	50.00
10/11/93	Phone conference.	0.25 100.00/hr	25.00
	Phone conference with witness.	0.45 100.00/hr	45.00
10/12/93	Phone conference with Atty Wadley.	0.25 100.00/hr	25.00
	Draft Motion and research.	0.75 100.00/hr	75.00
	Phone conference with Judge.	0.25 100.00/hr	25.00

Jessie L	. Misskelley, Jr.	Page	18
		Hrs/Rate	Amount
10/12/93	Letter to Fogleman.	0.25 100.00/hr	25.00
	Review Discovery and Motion.	1.25 100.00/hr	125.00
10/13/93	Research Suppress, ASU Law Library and Craighead County Law Library.	4.50 100.00/hr	450.00
	Conference with potential witness DJK, JD.	2.25 100.00/hr	225.00
	Phone conference with Atty Crow.	0.25 100.00/hr	25.00
	Phone conference with Jessie Sr.	0.35 100.00/hr	35.00
	Research / Wiley Publication.	0.50 100.00/hr	50.00
	Research on statement. Phone call from Client's mother. Transcribe notes from witnesses.	2.25 100.00/hr	225.00
10/14/93	Conference with Attorney Crow.	0.45 100.00/hr	45.00
	Phone conference with DRO; Letter to DRO.	1.35 100.00/hr	135.00
	Research & Draft Motion to Conduct Deposition of Interrogating Officers.	2.75 100.00/hr	275.00
	Phone conference with MP Re: Phoenix case.	0.35 100.00/hr	35.00

Jessie L	. Misskelley, Jr.	Pa	ige 19
		Hrs/Rate	Amount
10/15/93	Conference with DWW; conference with client; phone conference with Atty Price; phone conference with Atty Fogleman and conference with Atty Crow.	7.75 100.00/hr	775.00
10/17/93	Research Re: Suppression, voir dire.	0.75 100.00/hr	75.00
10/18/93	Research Re: Suppression; Review Motions; Letter from Atty Ford.	0.35 100.00/hr	35.00
	Prepare for Hearing; Draft Motion & Brief; Phone conference with client; Phone conference with Atty Price; Phone conference with Jessie Sr.; Phone conference with Sheriff's office; Research: Discovery & Deposition.	10.35 100.00/hr	1,035.00
	Research on Freedom of Information. Draft letter on Freedom of Info Request. Research on Discovery of Personal Records.	2.25 100.00/hr	225.00
	Research on Discovery of other Crimes; Research on Transfer to Juvenile Court; Letter to	1.50 100.00/hr	150.00

witness.

hearing.

10/19/93 Prepare for Hearing in Jonesboro. Court Appearance.

Prepare for Hearing. Trip to and from Jonesboro. Attend

Hearing. review Notes from

6.25 100.00/hr

5.75 100.00/hr 625.00

675.00

Jessie L	. Misskelley, Jr.	į	Page	20
		Hrs/Rate		Amount
10/20/93	Meeting with DTS.	1.00 100.00/hr		100.00
10/21/93	Conference with DTS.	0.75 100.00/hr		75.00
	Draft Order; Research Re: Suspression; Conference with client.	3.50 100.00/hr		350.00
10/22/93	Letters to Judge Burnett/counsel. Draft Orders.	1.25 100.00/hr		125.00
	Conference with client; Phone conference with client's father.	4.00 100.00/hr		400.00
10/23/93	Research Re: Suppression, Motion to Dismiss.	0.75 100.00/hr		75.00
	Review and catalog discovery.	1.75 100.00/hr		175.00
10/25/93	Phone conference with Val Price.	0.25 100.00/hr		25.00
	Phone conference with E.W.B.	0.25 100.00/hr		25.00
	Research Re: Suppression.	0.75 100.00/hr		75.00
	Conference with Atty Crow Re: Suppression; Conference with Judge Burnett Re: Language of Orders of Sept 27 and October 19. Conference with Atty Crow Re: Motion to transfer Juvenile Court and Motion Re: Mental Retardation Status Act 402.	2.25 100.00/hr		225.00

Page 21

	•	Hrs/Rate	Amount
10/27/93	Reviewed Discovery Information with Prosecutor.	0.75 100.00/hr	75.00
	Conference with Atty Crow Re: Witness.	0.25 100.00/hr	25.00
	Conference with Atty Crow Re: Johnson.	0.35 100.00/hr	35.00
	Conference with E.W.W. Re: Act 402.	0.35 100.00/hr	35.00
	Reviewed Prosecution Evidence Re: Statement of Buddy Lucas.	0.50 100.00/hr	50.00
	Conference with Detectives Getchel & Ridge.	1.25 100.00/hr	125.00
	Conference with Jim McNeese.	0.25 100.00/hr	25.00
F.	Conference with Jessie, Sr.	1.35 100.00/hr	135.00
	Conference with Stephanie & Boddy Dollar.	0.45 100.00/hr	45.00
	Conference with Kevin Johnson.	0.25 100.00/hr	25.00
	Conference with Christy Jones.	0.25 100.00/hr	25.00
	Conference with Susie Brewer.	0.25 100.00/hr	25.00
	Travel time - Trip to and from West Memphis.	3.00 100.00/hr	300.00

Toccio	T	Misskelley,	Tre
Dessie	14 .	MISSKEILEY,	MI.

Page 22

	4	Hrs/Rate	Amount
10/27/93	Review discovery. Phone call from client's step-mother.	1.50 100.00/hr	150.00
10/28/93	Review Discovery Information from Prosecutor.	3.25 100.00/hr	325.00
	Meeting with Atty Stidham.	1.00 100.00/hr	100.00
10/29/93	Phone conference with D.R.O.	0.25 100.00/hr	25.00
	Conference with Atty Crow Re: Suppression.	0.50 100.00/hr	50.00
	Review letter from Atty Fogleman.	0.35 100.00/hr	35.00
10/30/93	Letter to Atty Fogleman, Letter to Barbara Fisher and Review Discovery.	4.75 100.00/hr	475.00
10/31/93	Review Discovery.	7.25 100.00/hr	725.00
11/02/93	Conference with Sheriff, Conference with client, Review letter from DWW, Conference with County Judge, Clerk.	5.25 100.00/hr	525.00
11/03/93	Review Discovery from J.C.	0.50 100.00/hr	50.00
11/04/93	Conference with DWW and with client.	3.50 100.00/hr	350.00
	Conference with Atty BB	0.35 100.00/hr	35.00

		Hrs/Rate	Amount
11/04/93	Review transcript from 9-27-93 Hearing.	0.75 100.00/hr	75.00
	Phone conference with DRO.	0.45 100.00/hr	45.00
11/05/93	Conference with Court Re: Court file, Suppression and Hearing Date.	0.25 100.00/hr	25.00
11/07/93	Phone conference with Jessie Sr., Conference with client, and Research: Suppression/Corrob of Confession.	2.35 100.00/hr	235.00
×	Travel time - Trip to and from Piggott.	1.50 100.00/hr	150.00
	Meeting with client.	0.50 100.00/hr	50.00
11/08/93	Conference with Damien's Atty.	0.50 100.00/hr	50.00
	Phone call from Prosecutor and review new discovery.	1.00 100.00/hr	100.00
11/09/93	Phone conference with Dr. W.W.; Rreview Autopsy.	1.25 100.00/hr	125.00
11/10/93	Conference with W.W.	2.50 100.00/hr	250.00
	Conference with Atty Crow Re: Bearing of 16th.	0.50 100.00/hr	50.00
	Review case on Confession. Phone call to Little Rock and Conference with Atty Stidham.	1.25 100.00/hr	125.00

Jessie L. Misskelley, J	JI.
-------------------------	-----

Page 24

4		Hrs/Rate	Amount
11/15/93	Prepare Motion to Prohibit State from Imposing Death Penalty due to Mental Retardation; Research Transfer to Juvenile Court; Catalog file; Phone conferenced with Attys Fogleman & Davis.	13.00 100.00/hr	1,300.00
	Organize and Review file.	6.00 100.00/hr	600.00
11/16/93	Prepare for Hearing, Court Appearance.	7.75 100.00/hr	775.00
	Travel time - Trip to and from Osceola.	2.00 100.00/hr	200.00
	Attend Hearing.	2.50 100.00/hr	250.00
11/17/93	Phone conference with Jessie Sr. Conference with Atty Crow.	0.85 100.00/hr	85.00
11/18/93	Conference with client. Conference with Atty Crow.	2.75 100.00/hr	275.00
11/19/93	Phone conference with Atty Gievenni and Atty Otter. Organize files.	0.75 100.00/hr	75.00
11/21/93	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
11/22/93	Research Suppression, comment on evidence, voir dire, Jury instructions, conference with Atty Crow.	7.25 100.00/hr	725.00
11/23/93	Research Voir dire, phone conference with Court Clerk.	2.75 100.00/hr	275.00

Jessie L. Misskelley, Jr.	Page 25
Hrs/Rate	Amount
11/23/93 Research on Reward. 4.50 100.00/h	450.00
11/24/93 Research on Reward. 1.50 100.00/1	150.00
11/27/93 Phone conference with Jailer. 0.45 Phone conference with Jessie Sr. 100.00/h	45.00
11/29/93 Phone conference with DRO. 0.35 100.00/H	35.00 nr
Phone conference with Atty 0.20 Thorn's office. 100.00/h	20.00 nr
Letter to Selective Services. 0.25	25.00 ir
Research: Comment on Evidence. 0.50	50.00
Phone conference with DRO. 0.25	25.00 nr
Draft Motion Re: Comment on 0.45 Evident. 100.00/F	45.00
11/30/93 Phone conference with Court 0.20 Clerk. 100.00/h	20.00
Fax letter to Atty Fogleman Re: 0.25 Order. 100.00/h	25.00 nr
12/01/93 Phone conference with Dr. 0.25 Wilkins. 100.00/h	25.00 nr
Phone conference with Court 0.25 Clerk. 100.00/h	25.00 nr

Jessie L	. Misskelley, Jr.	Page	26
		Hrs/Rate	Amount
12/01/93	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
	Review and organize file.	1.25 100.00/hr	125.00
	Conference with client.	1.80 100.00/hr	180.00
	Review new Discovery. Catalog file. Sent material to client.	2.75 100.00/hr	275.00
12/07/93	Phone conference with Atty Fogleman.	0.25 100.00/hr	25.00
25	Letter to Judge Burnett.	0.40 100.00/hr	40.00
ei I	Review and catalog file.	3.25 100.00/hr	325.00
12/08/93	Research "Comment on Evidence". Catalog file.	5.75 100.00/hr	575.00
12/09/93	Letter to John Fogleman, Draft Order, Research Re: Comment on Evidence, Conference with Atty Crow Re: Suppression, Catalog file and prepare suggestability facts.	7.75 100.00/hr	775.00
12/10/93	Conference with DWW, conference with client, Draft Motion Re: Comment on Evidence.	7.25 100.00/hr	725.00
12/11/93	Phone conference with Jessie, Sr.	0.25 100.00/hr	25.00
12/12/93	Research and Draft Motion Re: Comment on Evidence.	1.50 100.00/hr	150.00

Jessie L. Misskelley, Jr.		Pe	age 27
4		Hrs/Rate	Amount
12/12/93	Letter to Judge Burnett.	0.25 100.00/hr	25.00
	Letters to Atty Ford, Wadley, Davis and Price.	0.50 100.00/hr	50.00
	Prepare for Trial: Jury Instructions/Closing Arguments.	3.50 100.00/hr	350.00
12/13/93	Review witness statements, catalog file. Phone conference with Dr. Wilkins and DRO. Conference with Atty Crow. Pepare Jury Instructions.	10.75 100.00/hr	1,075.00
12/14/93	Meeting with expert.	2.50 100.00/hr	250.00
12/15/93	Prepare for opening and closing. Conference with Dr. Ofshe and Dr. Wilkins. Research	14.75 100.00/hr	1,475.00
2	Conference with DTS and expert.	1.50 100.00/hr	150.00
	Conference with Dr. Richard Ofshe. Conference with client.	8.45 100.00/hr	845.00
12/16/93	Draft Order. Conference in Corning and Trial Preparation.	7.25 100.00/hr	725.00
12/17/93	Phone conference with Atty Davis & Atty Fogleman. Catalog file. Obtain copy of Fairchild opinion. Phone conference with W.B.H.	11.75 100.00/hr	1,175.00
	Draft letter and prepare package to W. Blt.	1.25 100.00/hr	125.00

Jessie L. Misskelley, Jr.		Pag	e 28
		<u> Brs/Rate</u>	Amount
12/18/93	Transcribe taped interview between Dr. Richard Ofshe and client.	4.00 100.00/hr	400.00
	Research Mental Retardation/Conference with Dr. William Wilkins. Phone conference with Freddy Revelle.	8.35 100.00/hr	835.00
12/19/93	Organize file data.	5.25 100.00/hr	525.00
	Organize file/review witness statements.	5.75 100.00/hr	575.00
12/20/93	Travel to W. Memphis, Conference with Chief of Police in Turrell. Conference with Jessie Sr. Review negatives at W. Memphis Evening Times. Conference with G Gitchell and John Fogleman. Visit crime scene. Prepare for Hearing.	15.25 100.00/hr	1,525.00
12/21/93	Phone conference with Dr. Richard Ofshe.	1.25 100.00/hr	125.00
	Conference with Atty GLC.	0.45 100.00/hr	45.00
	Attend Hearing in Osceola.	4.25 100.00/hr	425.00
12/22/93	Research on Intelligence. Review Discovery.	6.00 100.00/hr	600.00
	Work on closing arguments.	0.75 100.00/hr	75.00

Jessie L. Mi	skelley, Jr.	Ĥ
--------------	--------------	---

Page 29

		Hrs/Rate	Amount
12/23/93	Letter to Dr. Ofshe. Letter to Judge Burnett. Letter to Clerk Conference with Atty Crow.	4.25 100.00/hr	425.00
	Work on closing arguments.	1.25 100.00/hr	125.00
12/24/93	Draft letter to Ins. Gitchell. Research Polygraph.	3.25 100.00/hr	325.00
12/25/93	Phone conference with Jessie Sr.	0.35 100.00/hr	35.00
12/26/93	Phone conference with Jessie Sr.	0.25 100.00/hr	25.00
12/27/93	Phone conference with Dr. Ofshe, Dr. Wilkins, Warren Holmes and Atty Greg Crow. Research Suppression,	6.35 100.00/hr	635.00
	Research Re: Suppression. Conference with Atty Crow.	7.25 100.00/hr	725.00
	Research on Supression and on Rewards. Review witness statements. Research Death Penality.	12.75 100.00/hr	1,275.00
12/28/93	Review witness statement.	0.45 100.00/hr	45.00
	Conference with Atty Davidson & Investigatory Lax.	2.25 100.00/hr	225.00
	Review time line.	1.25 100.00/hr	125.00
	Research Re: Motion in Limine & Suppression.	2.75 100.00/hr	275.00

Jessie L. Misskelley, Jr.		Pa	ge 30
		Hrs/Rate	Amount
12/28/93	Phone conference with Dr. Ofshe.	0.35 100.00/hr	35.00
	Research Re: Death Penalty/Suppression.	2.20 100.00/hr	220.00
	Prepare opening & closing argument.	1.75 100.00/hr	175.00
	Review Subpoenia list. Phone conference with Atty Davidson.	1.25 100.00/hr	125.00
12/29/93	Research Re: Motion in Limine. Conference with Atty Crow re: trial stratigy, witness list, suppression. Research. Phone conference with Ron Lax & Dr.	7.20 100.00/hr	720.00
	Wilkins. Reseach Motion in Limine, Rule 401, 402, 403 & 804. Review discovery from Prosecutor.		*
	Research and prepare for trial.	3.50 100.00/hr	350.00
Si	Research done on Tricks, Reward, IQ and Damion Hearsay.	13.25 100.00/hr	1,325.00
12/30/93	Phone conference with Atty Davis.	0.20 100.00/hr	20.00
	Phone conference with Atty Davidson, fax letters to Defense Atty.	0.75 100.00/hr	75.00
	Conference with Atty Crow. Three (3) phone conferences with R. Lax. Phone call to Dr. Ofshe. Research - Suppression. Fax transmission to Ofshe. Review Jury Instructions. Review Statements of client.	9.35 100.00/hr	935.00

*		Hrs/Rate	Amount
12/30/93	Revise opening and closing argument.	1.75 100.00/hr	175.00
	Research done on Arrest and Confessions. Work on witness list.	7.50 100.00/hr	750.00
	Review Discovery. Work on Brief.	3.75 100.00/hr	375.00
12/31/93	Travel to Earle, Arkansas to interview Buddy Lucas, Conferences with Ron Lax, Jessie Sr., D. Carter, David Sims and Keith Johnson.	11.75 100.00/hr	1,175.00
	Letter to Atty Fogleman.	0.35 100.00/hr	.35.00
*	Research on Death penality and equal protection. Work done on Brief (Supression). Review discovery.	11.25 100.00/hr	1,125.00
01/01/94	Research Re: Photos, Corroboration, Draft Motion, Review witness statements.	8.75 100.00/hr	875.00
01/02/94	Trial Preparation.	12.75 100.00/hr	1,275.00
	Review witness statements. Work on brief. Conference with Stidham Re: witness. Review Discovery.	10.50 100.00/hr	1,050.00
01/03/94	Conference with Gitchell, Fogleman. Visit Crime scene, travel to W. Memphis, Conference with McDavid Johnson.	9.25 100.00/hr	925.00

Jessie	L.	Misskelley,	Jr.
3 2 2 2 2 2 2 2 2			

Page 32

		Hrs/Rate	Amount
01/03/94	Meeting with Police and Prosecutor. Travel to W. Memphis. Interview witness. Review findings of Investigator.	8.00 100.00/hr	800.00
01/04/94	Conference with Gitchell, Fogleman. Phone conference with Ofshe. Pickus Ofshe at Airport.	9.75 100.00/hr	975.00
	Investigate case in West Memphis.	10.00 100.00/hr	1,000.00
01/05/94	Draft pleadings. Phone conference with Dr. Wilkins and Paul Ford. Review file. Phone conference with W. Holmes.	13.50 100.00/hr	1,350.00
	Work on Brief. Review witness list. Prepare for Trial.	9.50 100.00/hr	950.00
01/06/94	Review file, pleadings, exhibit and witness list. Research in Jonesboro. Conference with Dr. Wilkins. Prepare witness and exhibit list.	15.75 100.00/hr	1,575.00
	Prepare for trial. Work on Brief.	12.75 100.00/hr	1,275.00
01/07/94	Trial Preparations. Conference with client.	11.75 100.00/hr	1,175.00
8	Prepare for trial. Work on Brief.	8.00 100.00/hr	800.00
01/08/94	Draft Motion in Limine. Letter to Atty Fogleman. Trial Preparations. Phone conference with Atty Price and Ron Lax.	13.75 100.00/hr	1,375.00

Jessie I	. Misskelley, Jr.	Pa	ige 33
		Hrs/Rate	Amount
01/08/94	Prepare trial Stragey. Work on Brief and on Motions in Limine.	13.25 100.00/hr	1,325.00
01/09/94	Trial preparations.	8.75 100.00/hr	875,00
	Prepare for hearing. Work on Brief.	10.25 100.00/hr	1,025.00
01/10/94	Trial preparations.	14.35 100.00/hr	1,435.00
	Prepare for hearing. Prepare for Trial. Meet with other attorneys.	13.00 100.00/hr	1,300.00
01/11/94	Trial preparations.	16.75 100.00/hr	1,675.00
	Prepare for hearing/trial.	11.50 100.00/hr	1,150.00
01/12/94	Trial preparations.	17.25 100.00/hr	1,725.00
	Meeting with Experts. Work on Brief-polygraph. Trip to Memphis. Prepare for hearing.	16.50 100.00/hr	1,650.00
01/13/94	Hearing on Motions.	8.00 100.00/hr	800.00
	Trial preparations and travel time.	8.50 100.00/hr	850.00
	Prepare for hearing. Hearing. Meet with Experts and travel to Paragould.	16.50 100.00/hr	1,650.00

		Hrs/Rate	Amount
01/14/94	Trial preparations and fax Brief to Court.	10.75 100.00/hr	1,075.00
	Work done on Brief.	5.50 100.00/hr	550.00
01/15/94	Trial preparations and phone conference with Judge.	12.50 100.00/hr	1,250.00
	Voir dire questions.	2.25 100.00/hr	225.00
a	Prepare for trial.	14.75 100.00/hr	1,475.00
01/16/94	Voir Dire preparations.	14.50 100.00/hr	1,450.00
	Prepare for trial. Work done on Jury list.	14.00 100.00/hr	1,400.00
01/17/94	Voir Dire.	14.75 100.00/hr	1,475.00
	Prepare for Trial, Jury and Voir dire.	16.25 100.00/hr	1,625.00
01/18/94	Voir Dire.	12.50 100.00/hr	1,250.00
	Voir dire - Jury Instructions and Jury Pool.	10.75 100.00/hr	1,075.00
	Organize Jury Information.	5.00 100.00/hr	500.00
01/19/94	Court Appearance. Conference with Dr. Berry. Review Discovery Information.	10.50 100.00/hr	1,050.00

Jessie	T	Misskelley,	Tar
000000	***	TITTO OVERTICA!	U *

Page 35

		Hrs/Rate	Amount
01/19/94	Prepare for Trial. Meet with jury expert. Review Jury Information.	13.50 100.00/hr	1,350.00
01/20/94	Court Appearance. Corning Jury selection.	9.25 100.00/hr	925.00
	Phone conference with Atty Ford and Val Price.	1.20 100.00/hr	120.00
350	Prepare for Trial. Trial. Meet with Jury expert.	12.00 100.00/hr	1,200.00
01/21/94	Trial preparation.	15.75 100.00/hr	1,575.00
	Prepare for Trial. Travel to and from W. Memphis. Meet with Investigator.	15.75 100.00/hr	1,575.00
01/22/94	Trial preparation.	12.75 100.00/hr	1,275.00
	Prepare for Trial.	12.50 100.00/hr	1,250.00
01/23/94	Trial preparation.	10.25 100.00/hr	1,025.00
	Review Discovery.	2.75 100.00/hr	275.00
	Prepare for Trial. Review Aaron's statements.	10.25 100.00/hr	1,025.00
01/24/94	Prepare for Trial.	12.75 100.00/hr	1,275.00
	Prepare for Trial.	12.45 100.00/hr	1,245.00

Jessie I	. Misskelley, Jr.	Pa	ige 36
		Hrs/Rate	Amount
01/24/94	Review Suppression Transcript.	1.75 100.00/hr	175.00
01/25/94	Prepare for Trial.	9.50 100.00/hr	950.00
	Prepare for Trial.	13.45 100.00/hr	1,345.00
	Prepare for Trial.	2.75 100.00/hr	275.00
01/26/94	Prepare for Trial. Travel to and from Corning.	7.00 100.00/hr	700.00
	Trial.	6.50 100.00/hr	650.00
	First day of Trial.	8.50 100.00/hr	850.00
	Prepare for next day's proceedings.	4.25 100.00/hr	425.00
01/27/94	Trial.	7.00 100.00/hr	700.00
	Prepare for Trial. Travel to and from Corning.	6.25 100.00/hr	625.00
	Second day of Trial.	10.25 100.00/hr	1,025.00
	Prepare for Gitchell Cross exam.	1.75 100.00/hr	175.00
01/28/94	Third day of Trial.	12.25 100.00/hr	1,225.00

Jessie L. Misskelley, Jr.

Page 37

		Hrs/Rate	Amount
01/28/94	Prepare for trial. Trip to and from Corning.	7.50 100.00/hr	750.00
	Trial.	8.50 100.00/hr	850.00
01/29/94	Trial preparations.	9.75 100.00/hr	975.00
	Travel time - Trip to Marked Tree; interview witness.	2.00 100.00/hr	200.00
	Travel time - Trip to Forest City; interview witness.	2.00 100.00/hr	200.00
	Travel time - Trip to Memphis; interview witnesses, meet with Ron Lax.	9.25 100.00/hr	925.00
	Travel with Greg Crow to Marked Tree, Forest City and West Memphis Re: Interview witnesses, Meet with Ron Lax.	13.25 5.00/hr	66.25
01/30/94	Trial preparations.	14.25 100.00/hr	1,425.00
	Meeting with witnesses and return trip to Paragould.	8.00 100.00/hr	800.00
	Prepare for Trial.	6.50 100.00/hr	650.00
	Meet with witnesses and return trip to Paragould.	9.00 5.00/hr	45.00
01/31/94	Trial preparations; Conference with witness.	5.45 100.00/hr	545.00

Jessie L	. Misskelley, Jr.	Pa	ge 38
		<u>Hrs/Rate</u>	Amount
01/31/94	Court Appearance.	7.00 100.00/hr	700.00
	Prepare for trial. Trip to and from Corning.	10.50 100.00/hr	1,050.00
	Court Appearance.	5.50 100.00/hr	550.00
02/01/94	Court Appearance.	8.00 100.00/hr	800.00
	Trial Preparations.	8.00 100.00/hr	800.00
2	Prepare for Trial. Travel to and from Corning.	12.00 100.00/hr	1,200.00
Olivi.	Court Appearance.	6.50 100.00/hr	650.00
02/02/94	Trial Preparations.	2.50 100.00/hr	250.00
	Court Appearance.	9.50 100.00/hr	950.00
i S	Prepare Closing.	4.25 100.00/hr	425.00
	Court Appearance.	8.50 100.00/hr	850.00
	Prepare for trial. Travel to and from Corning.	8.00 100.00/hr	800.00
02/03/94	Prepare for Trial. Trip to and from Corning.	3.00 100.00/hr	300.00

Jessie L	. Misskelley, Jr.	Pā	ige 39
		Hrs/Rate	Amount
02/03/94	Trial.	16.00 100.00/hr	1,600.00
	Trial.	16.00 100.00/hr	1,600.00
02/04/94	Trial.	6.00 100.00/hr	600.00
	Prepare for Trial.	1.50 100.00/hr	150.00
*	Trial.	6.00 100.00/hr	600.00
02/07/94	Phone conference with Atty Davis. Conference with Atty Crow.	0.75 100.00/hr	75.00
02/08/94	Phone conference with Brent Davis. Travel to Pine Bluff.	12.50 100.00/hr	1,250.00
	Phone call to Brent Davis.	0.25 100.00/hr	25.00
02/09/94	Phone conference with Jessie Sr Re: Dennis Carter.	0.35 100.00/hr	35.00
	Phone conference with Atty Crow Re: Jessie's new statement.	1.45 100.00/hr	145.00
02/13/94	Phone conference with Atty Fogleman.	0.25 100.00/hr	25.00
	Phone conference with Dr. Ofshe.	0.35 100.00/hr	35,00

Phone conference with Atty Davis.

0.25 100.00/hr 25.00

Jessie L. Misskelley, Jr.

Page 40

		H	rs/Rate	Amount
02/14/94	Phone conference with Ron Lax.		0.35 100.00/hr	35.00
	Phone conference with Brent Davis' office.		0.20 100.00/hr	20.00
	Review autopsy. Phone call to Dr. Peretti.		0.45 100.00/hr	45.00
	Research Re: Motion for New trial.		0.50 100.00/hr	50.00
	Phone conference with Brinkly P.D.		0.25 100.00/hr	25.00
	Conference with Jessie, Sr.		0.35 100.00/hr	35.00
÷.	Draft Appeal pleadings.		0.75 100.00/hr	75.00
	Phone conference with Ron Lax.		0.25 100.00/hr	25.00
	Conference with Deputy Prosecutor.		0.35 100.00/hr	35.00
02/15/94	Travel time - Trip to Pine Bluff, Conference with client, conference with Atty Davis's office, atty Price and Atty Crow.		13.45 100.00/hr	1,345.00
02/16/94	Conference with Atty Crow Re: Phone conference Brent Davis.		1.35 100.00/hr	135.00
	Phone conference with Jessie Sr. Re: Conference with Fogleman.		0.25 100.00/hr	25.00

Jessie L. Misskelley, Jr.	Pa	ge 41
	Hrs/Rate	Amount
02/16/94 Phone call from Brent Davis. Meet with Dan Stidham. Phone call from client.	2.25 100.00/hr	225.00
02/17/94 Conference with Atty Crow. Conference with client, conference with Attorneys Davis & Calvin. Phone conference with Court.	5.75 100.00/hr	575.00
Phone call from Joe Calvin. Meet with DTS.	1,50 100.00/hr	150.00
Phone call to DTS.	0.25 100.00/hr	25.00
Meeting with client, Atty's Calvin, Davis & DTS. Travel to and from Rector.	4.75 100.00/hr	475.00
02/18/94 Conference with Atty Wadley, Phone conference with Atty Ford, Conference with Attys Price & Davidson. Travel to W. Memphis, conference with Jessie Sr. and Dr. Ofshe. Draft. Motion.	14.50 100.00/hr	1,450.00
Conference with DTS.	1.00 100.00/hr	100.00
02/19/94 Research Prosecutional Misconduct.	4.75 100.00/hr	475.00
02/20/94 Draft Motion & Brief. Research.	9.00 100.00/hr	900.00
02/21/94 Research and Draft Motion.	11.75 100.00/hr	1,175.00

Jessie L	. Misskelley, Jr.	Page	42
		Hrs/Rate	Amount
02/21/94	Meeting with DTS.	3.00 100.00/hr	300.00
02/22/94	Attend Hearing.	13.00 1 100.00/hr	,300.00
	Travel time - Trip to and from Piggott. Meet with client.	2.50 100.00/hr	250.00
	Travel time - Trip to and from Jonesboro. Attend Court.	3.50 100.00/hr	350.00
	Meeting with client.	4.00 100.00/hr	400.00
02/23/94	Meeting with client, Atty Davis, Atty Wells.	6.75 100.00/hr	675.00
02/27/94	Phone call from Atty Wells and from Atty Davis.	0.50 100.00/hr	50.00
02/28/94	Phone conference with Atty Crow and Atty Davis.	3.25 100.00/hr	325.00
	Phone calls to and from Atty Wells.	0.50 100.00/hr	50.00
	Travel time - Trip to and from Corning.	1.50 100.00/hr	150.00
	Meeting with client.	2.00 100.00/hr	200.00
03/01/94	Meeting with client; Research Motion for New Trial, Rule 22.3, Conference with Atty's Davis, Wells & Fogleman.	10.45 1 100.00/hr	,045.00

Meeting with DTS.

2.00 100.00/hr 200.00

Jessie L	. Misskelley, Jr.		Page 43
		Hrs/Rate	Amount
03/02/94	Court Appearance; Draft Motion for New Trial. Research Motion for New Trial; Conference with client.	10.35 100.00/hr	1,035.00
	Attend Jonesboro Trial.	4.50 100.00/hr	450.00
	Travel time - Trip to and from Jonesboro.	1.00 100.00/hr	100.00
03/04/94	Phone conference with Ron Lax.	0.25 100.00/hr	25.00
	For professional services rendered	1836.70	\$181,456.25
	Additional charges:		*
06/16/93	Reimburse Dan Stidham for Miscellaneous expenses, i.e., Haircut \$5.00, Magazine \$18.00, Lunch \$18.83 and Mileage to see client \$39.90.	es	81.73
06/22/93	Paid to Greg Crow - Mileage expense Trito visit client.	ip	57.62
06/23/93	Paid to Dan Stidham - Mileage expense trip to visit client.	for	30.11
	Paid to Dan Stidham - Mileage expense trip to visit client.	for	19.95

Paid to Dan Stidham - Mileage expense for Trip to visit client.

07/01/93 Mileage for Trip to Piggott.

19.95

26.22

ř.

Jessie L. Misskelley, Jr.	Page 44
	Amount
07/06/93 Paid to Dan Stidham.	27.53
07/23/93 Paid to Greg Crow for mileage for trip to West Memphis.	52.73
Paid to Greg Crow for mileage for trip to Piggott.	23.37
08/19/93 Paid to Greg Crow Re: Mileage for trip to and from West Memphis, etc. Hearing on Motions.	101.27
08/30/93 Long Distance phone calls from 7/12/93 thru 8/3/93.	5.17
09/20/93 Paid to VGK Re: Mileage for Trip to Marion.	64.98
09/26/93 Paid to Hampton Inn, Marion Re: Misskelley Hearing.	57.46
10/01/93 Paid to Greg Crow Re: Long Distance phone call while staying at Hampton Inn.	4.71
Paid to Greg Crow Re: Misskelle expense (Marion).	123.27
Paid to Greg Crow Re: Misskelley expense (Marion).	27.80
10/04/93 Long Distance phone call from 8/23/93 to 9/9/93.	3,28
10/19/93 Paid to Karen Nobles for mileage - trip to Jonesboro and for copying expenses.	20.00
Paid to Dan Stidham.	12.45
Paid to Supreme Court Library Funds for faxed copies.	13.00

Jessie L. M	Misskelley, Jr.	Page	45
			Amount
11/11/93 Pa	id to Mid-States Auto Rental.		56.30
an	aid to Vickey Krosp Re: 10/19/93 Trip to ad from Jonesboro and Cellar phone parges.		17.88
11/18/93 Pa	di to Federal Express - Dr. R. Ofshe		24.25
Lo th	ng Distance phone calls from 9/14/93 ru 9/30/93.		14.07
	id to Karen Nobles Re: Mileage for Trip Piggott.		10.55
	ng Distance phone calls made between tober 11, 1993 and November 4, 1993.		14.07
12/17/93 Pa	id to Mark Jesse Re: Fax costs.		15.00
12/21/93 Pa	id to Ramada Inn of West Memphis.		56.94
	leage for Trip to and from West Memphis d Osceola.		62.00
12/31/93 Lu	nch with Investigator Ron Lax.		35.00
	id to Memphis Airport Re: Parking pick Dr. Ofshe.		1.35
Pa	id to Walgreens.		23.46
Pa	id to Foto Fast Re: Film developing.		11.13
Pa:	id to McMurry Office Suppliers.		29.16
Pa:	id for copies of Supreme Court cases.		26.00
Of	leage for Trip to Memphis Re: Pickup Dr she at Airport - meet with Police partment.		62.70

Jessie L. Misskelley, Jr.	Page 46
	Amount
01/11/94 Charges for Cellular phone calls from 10-27-93 to 11-11-93.	9.02
Charges for long distance phone calls from 11/12/93 to 12/09/93.	12.20
Paid to W & G Photo Lab.	66.36
01/12/94 Paid to Host Intl.	17.46
Mileage for Trip to Memphis Re: Hearing.	61.28
01/13/94 Paid to Med-States Auto Rental.	55.95
Paid to Federal Express.	28.50
Paid to Marriott Hotel.	792.55
Paid to Stacey's.	4.00
01/18/94 Paid to Postmaster - package to Dr. Ofshe.	2.90
Paid to Walmart - clothes for Jessie (Court).	102.42
01/19/94 Paid to Candlelite Re: Dinner with Dr. Berry.	80.00
01/20/94 Paid to Linda's Restaurant - Lunch.	21.40
Mileage for Trip to Corning Re: 1st day of Jury Selection.	17.10
01/21/94 Mileage for Trip to Corning Re: 2nd day of Jury Selection.	17.10
Mileage for Trip to W. Memphis Re: Meeting with other attorneys.	61.56

Jessie I	. Misskelley, Jr.		Page	47
				Amount
01/25/94	Reimburse Vicky Krosp Re: Supplies for case.			12.57
	Paid to Daves Chevron Re: Travel Expense.			29.59
	Paid to Karen Nobles Re: Mileage to Piggott.			17.10
	Mileage for Trip to Jonesboro Re: Blowup documents.			11.40
01/26/94	Lunch - Trial.			15.84
	Mileage for Trip to Corning Re: 1st day of Trial.			17.10
01/27/94	Mileage for Trip to Corning Re: 2nd day of Trial.			17.10
01/28/94	Reimburse Greg Crow Re: Lunch - Trial.	7		8.97
A	Lunch - Trial.			19.69
	Paid to W & G Photo Lab Re: Document blowups.			189.64
	Mileage for Trip to Corning Re: 3rd day of Trial.			17.10
01/29/94	Mileage for Trip to Marked Tree, Forest City, West Memphis and Memphis and return to Paragould.	**		70,68
	Paid to Riverview Inn in Memphis.			75.00
01/31/94	Mileage for Trip to Corning Re: 4th day of Trial.			17.10
02/01/94	Travel time - Two (2) Trip to and from Memphis Airport to pickup Dr. Holmes & Dr. Ofshe. Trip to and from Corning.			35.00
			4	

	Jessie L	. Misskelley, Jr.	Page	48
				Amount
	02/01/94	Mileage for Trip to Corning Re: 5th day of Trial.		17.10
		Mileage for KAN two (2) Trips to Memphis Airport Re: Pickup Dr. Ofshe and Dr. Holmes and Trip to Corning - trial.		131.10
		Paid to Ramada Inn - Paragould Re: Dr. Ofshe.		42.12
		Paid to Memphis Airport Re: Parking expense - pickup Dr. Holmes and Dr. Ofshe.		8.50
		Paid for Gas Re: Two (2) trips to Memphis Airport.		22.00
		Expenditure Re: Batteries for tape player - Dr. Ofshe.		4.93
	02/02/94	Mileage for Trip to Corning Re: 6th day of Trial.		17.10
		Paid to Linda's Restaurant Re: Lunch - Trial.		11.05
-	02/03/94	Mileage for Trip to Corning Re: 7th day of Trial.		17.10
		Paid to Linda's Restaurant Re: Lunch Trial.	2	18.75
1	02/04/94	Mileage for Trip to Corning Re: 8th day of Trial.		17.10
		Paid to Rena Dicus - Mileage for Trip to Jonesboro Re: Pickup Document Blowups.		14.25
1	02/07/94	Paid to Vicky Krosp - mileage for two (2) Trips to Corning.		34.20

Jessie L	. Misskelley, Jr.	Page	49
			Amount
02/07/94	Reimbuse Vicky Krosp Re: Expenditures for Lunch 12.43 & Walmart \$7.04.	,	19.47
02/08/94	Long Distance phone calls & Fax from 12-11-93 to 1-10-94.		44.99
02/16/94	Paid to Federal Express Re: RMB Assoc & Dr. Ofshe.		74.00
	Mileage for two (2) Trips to and from Pine Bluff.		102.03
	Paid to Arkansas Supreme Court Re: Fax expense.		15.00
02/20/94	Long Distance charges from 1/11/94 thru 2/09/94.		73.98
	Fax charges from 01/11/94 thru 02/09/94.		6.31
03/03/94	Paid for Cell-one Charges from 12/31/93 to 01/31/94.		56.95
	Paid to Laceco Auto Lease for auto rental.		23.65
	Paid to Ramada Inn for Dr. Ofshe.		41.93
12/31/94	Mileage for Trip to Earl, Arkansas Re: Interview witness.		57.00
	Total costs	\$4,	006.75
	Total amount of this bill	\$185,	463.00

Jessie L. Misskelley, Jr.

Page 50

Balance due

\$185,463.00

Ψ RMB Associates



Applied Trial & Settlement Sciences

Pre-Trial Testing/Simulation
Jury Selection

Feedback Jurors

· Award Forecasting

Pyramid Place 221 W. 2nd Little Rock, AR 72201 (501) 375-4101 FAX (501) 375-3071

February 14, 1994

Mr. Daniel Stidham Mr. Greg Crow Stidham and Crow Law Firm P.O. Box 856 Paragould, Ar 72451

Re: Jury Selection Fees

State v. Misskelley

Profile: 116 jurors @ \$12/juror - \$1,392.00 Lodging - 126.36 650 mi travel @ 25¢/mi

650 mi.travel @ 25¢/mi. - 162.50 Overnight shipping - 12.95 Nikki Longstreth 26 hrs. @ \$12 - 312.00

Robert Berry (no charge)

\$2,005.81

Thanks for utilizing our Jury Profiler. We hope you found it to be an efficient and effective jury selection tool. We also want to express our judgment that Jessee was well-represented by the two of you and your excellent preparation.

We enjoyed working with you and look forward to a continued association.

Sincerely,

Robert Berry, Ph.D.

enclosures

Richard J. Ofshe, Inc. 13626 Campus Drive Oakland, California 94708 (ID# 94-2794016)

Statement of Account February 4, 1994 State of Arkansas v. Jessie Misskelley

Total Consultation and Expenses = \$22,009.00

Consultation: 104.5 hours @ \$150.00/hour = \$15,675.00

1993		
October 4.0) hours	Conference Mr. Stidham re: case issues Preliminary review documents re: case and the interrogation of Mr. Misskelley
November 1.	hours	Phone conferences with Mr. Stidham
December 5.0	hours	Travel from San Francisco to Memphis
15.0) hours	Travel from Memphis to Paragould All day and evening conference with Mr. Stidham re: interrogation, psychiatric issues, trial issues, evidence and debriefing of Mr. Misskelley
9.)) hours	Conference with Mr. Stidham Interview Mr. Misskelley Return Travel to Memphis
5.0) hours	Travel from Memphis to San Francisco
1994		
January 5.0	hours	Travel from New York to Dallas
) hours	Travel from Dallas to Oakland Travel in connection with an attempted interview of interrogators
3.0) hours	Review of materials in connection with preparation for testimony at a suppression hearing on January 13th.
6.0	hours	Travel from Oakland to Memphis
5.1	hours	Conference with Mr. Stidham and Mr. Crow
. 10.0	hours	Attend suppression hearing and conference with Mr. Stidham and Mr. Crow
6.0) hours	Return travel from Memphis to San Francisco

	6.0 hours	Review materials and prepare outline for trial testimony
February	7.0 hours	Travel from Oakland to Paragould
	1.0 hour	Conference with Mr. Stidham
	6.0 hours	Conference with Mr. Stidham, prepare court testimony outline
	7.0 hours	Return travel from Corning to San

Time in Court: 3 hours @ \$300.00/hour = \$900

February 3.0 hours Testimony in court

Expenses: \$5,434.00

Trip #1 - December 1993 Air fare from San Francisco to Memphis and return Hotel and meal in Memphis - December 13, 1993 Hotel in Memphis - December 15, 1993 Car rental Gasoline	11111	\$1,243.00 \$101.00 \$69.00 \$119.00 \$11.00
Trip #2 - January 1994 Air fare from San Francisco to Memphis and return	_	\$1,243.00
Trip #3 - January 1994 Air fare from San Francisco to Memphis and return	_	\$1,264.00
Cab from San Francisco Airport to Oakland Trip #4 - February 1994	-	\$60.00
Air fare from San Francisco to Memphis and return Cab from San Francisco Airport to Oakland	_	\$1,254.00 \$60.00

WILLIAM E. WILKINS, Ph.D. P.O. Box 2125 Jonesboro, Arkansas 72402

70:

Mr. Dan Stidham 203 N. 2nd Street Paragould, AR 72450 DATE: 2-4-94

STATEMENT

Where appropriate, Arkansas Blue Cross Blue Shield customary charges were used.

Testing: \$110.00 per hour

Consultations: \$150.00 per hour

Preparation of Reports: \$150.00 per hour Research Time: \$150.00 per hour



RE: JESSIE LOYD MISSKELLEY, JR.

DATE	DESCRIPTION	DEBITS	CREDITS	BALANCE
10-15-93	Initial Interview 1 hr.	\$130.00		\$ 130.00
-15-93	Testing 5 hrs.	\$550.00		\$ 680.00
	Consultation w/ Counsel 4 hrs.	\$600.00		\$ 1280.00
10-22-93	Testing 6 hrs.	\$660.00		
11-04-93	Consultation w/ Counsel 3 hrs.	\$450.00		\$ 1940.00 \$ 2390.00
11-05-93	Preparation of Report 5 hrs.	\$750.00		\$ 3140.00
11-07-93	Research & Court Preparation 5 hr	s. \$750.00		
11-15-93	Consultation w/ Counsel 4 hrs.	\$600.00		\$ 3890.00
11-16-93	Court Appearance	\$2000.00		\$ 4490.00
12-10-93	Interviewing/Testing 6 hrs.	\$660.00		\$ 6490.00
12-14-93	Consultation w/ Counsel & other	4000.00		\$ 7150.00
	Expert Witnesses 8 hrs.	\$1200.00		\$ 8350.00
12-18-93	Consultation w/ Counsel 4 hrs.	\$600.00		\$ 8950.00
12-21-93	Court Appearance	\$2000.00		\$10950.00
12-28-93	Consultation w/ Counsel 2 hrs.	\$300.00		\$11250.00
01-06-94	Research Time 6 hrs.	\$900.00		\$12150.00
01-12-94	Meeting in Memphis, TN w/	4300.00		\$12150.00
	Counsel, Ofshe, & Holmes 8 hrs.	\$1200.00		\$13350.00
01-13-94	Court Appearance, Marion	\$1500.00		\$14850.00
01-26-94	Court	\$2000.00		\$16850.00
01-27-94	Court	\$2000.00		
01-28-94	Court	\$2000.00		\$18850.00
01-31-94	Court	\$2000.00		\$20850.00
01-31-94	Consultation w/ Counsel 6 hrs.	\$900.00	. 0	\$22850.00
02-01-94	Court Appearance	\$2000.00	N.	\$23750.00 \$25750.00
			BALANCE MILE.	ARCHEN NO.

BALANCE DUE:

\$25750.00



HOLMES POLYGRAPH SERVICE, INC.

5210 WEST FLAGLER STREET MIAMI, FLORIDA 33134

Confidential Polygraph Examinations Personnel Screening Internal Security Concultants

TELEPHONE 445-5678

February 10, 1994

Mr. Daniel T. Stidham Stidham & Crow 203 North Second Street Paragould, Arkansas 72451

STATEMENT FOR SERVICES RENDERED by Warren D. Holmes

1/13/94 Transportation Costs to West Memphis, Arkansas for Motion to Suppress Confession of Jessie Lloyd Misskelly, Jr.

\$ 855.00

3 -

2/01/94 Transportation Costs to Corning, Arkansas for Trial of Jessie Lloyd Misskelly, Jr.

\$ 361.00

TOTAL

\$1216.00

Please remit payment upon receipt.

Thank you!

Date 03/10/94 Time 11:44 am

STIDHAM & CROW Client Billing Worksheet

Page 1

Misske P93-284 : Jessie L. Misskelley, Jr. I ice # : P93-284
Rounding : None

Full Precision : No

Last bill : / /
Last charge : 03/09/94
Last payment : / /

Last aging : 03/06/94

Amount

: \$0.00

Date/Slip#	Description	HOURS/RATE	AMOUNT	TOTAL
03/07/94 #1524	DTS / Conference with Conference with Court Re: Payment of fees & Motion for New Trial.	1.75 100.00	175.00	
03/08/94 #1525	DTS / Phone conferenc Phone conference with client.	0.35 100.00	35.00	
03/08/94 #1526	DTS / Phone conferenc Phone conference with Investigator & Atty's Ford & Wadley.	0.35 100.00	35.00	
	DTS / Phone conferenc Phone conference with investigator	0.25 c. 100.00	25.00	
3/09/94 #1528	DTS / Conference with Conference with Judge Burnett Re: Motion for New Trial & fees.	0.25 100.00	25.00	
#1529	DTS / Conference with Conference with Attys Ford & Wadle Re: Medical Examiner.	0.35 ey 100.00	35.00	
03/09/94 #1530	DTS / Travel time Travel time - Trip to and from Jonesboro.	1.00 100.00	100.00	
	DTS / Conference with Conference with Atty Crow.	0.50 100.00	50.00	
POTAT. BILLA	BLE TIME CHARGES	4.80		\$480.00
		1836.70		********
		211 50		
	Total	1841.30		
\sim		P 4 P		
		THE RESIDENCE TOWN		

Date 03/10 Time 11:44	F-1170/2007	M & CROW g Worksheet		Page 2
Misske P9	3-284 :Jessie L. Misskelley, Jr	. (continued)		
Dace/Slip#	Description	OTY/PRICE		
03/09/94 #1532	DTS / \$ Miscellaneous Gas Expense - DTS.	9.30	9.30	
	DTS / \$ Miscellaneous Paid to Grants Place Re: Lunch	. 5.96	5.96	
03/09/94 #1534	DTS / \$ Miscellaneous Gas Expense - Travel to Corning File Motion for New Trial.	g Re: 10.00	10.00	•
03/09/94 #1535	DTS / \$ Mileage Paid to Karen Nobles Re: Trip to Corning.	60 0.285	17.10	
_				4006.75
TOTAL BILL	ABLE COSTS	THE C	0573	\$42.36
TOTAL NEW (CHARGES	1000	داوف	7, 32, 230
NEW BALANCI	3			À:
New Current	period		522.36	
TC L NEW E	BALANCE			\$522.36